Exempd  mum  oreisning I4 - @,

Ex 1

- \
DA B YL) N R
[ [ N

b — -
) Ab(’ 1 r ((—A (_;’)) = {-—(”’ut t'?.b\-)):-
= TR f2F(Tyy- - \_/(;) ,f“(z.)} v(?)
1 -
~1
‘_-———'-—._
Ale 2 FlaX): VAX o
—fu /- ~ 1 7 -4 9
(G 2 6= 20
Exz2
3 _ L3 X("ZXZ*‘L{X:,
Ak F (x.,xz,x3)= F(&?(XZ)): (X|°9.X9_+ ‘1}&3’ KXot 3’(33: €. -
X1 *2 & gxs
= 1 7Y ";l
SN o 1 3)(x;) Svar: Ao (’t 2 H)
G
Al o T(1,0,0) = (1. 0) :2‘1(:)%0\1 CFle0: e, (-:)%m

t(OG,-ﬂ:E_ 1 _ . VU Tt
' 1(3)h§.1\(3; A (T' “{LT@‘ o U 3

—————




Exs T @2—‘9 TRQ 5(963&2(3 o Un,:ﬁen X=X (Stendodhon

N
(] 7\\: N
E?., 1 , .v""{:f’ V.\ ho{&@f Qﬂ
~ \ -
. (V)
.-/ LN \'Q = r , — )
e — 7 - F r(_ek-): e?.: g_ ( ; )
E g X\
- — — 4
&-(?LJ' eg,- g (O)
0O 4\
e A=z (1 o Ty medons Shendoad baven
Q

~

Vi ‘ha Wik (Rxe) = f(g(:ﬁ_))‘*ﬁ(oq)(x‘)=$(x‘):(xz,m)

4 Rotadion @ R*

e e e

28, FrRP>R® séden ath voge
o, _ vkl Vo vAde med on fix vined ©,
v

Fleo: (cose, 21n80)

Flepr (-5wo,cae)

\
(o8 ® -5.A%

S1nb CONE

( dek Az Cos?0- Rl =1



Bx5 Vadaing  kayg Xg-oxddn “323_
(0y© - 50

] - ~ — 0
FZo:= ¢ siae RS G L B I S C AT s

O Q 1
” Coyve ~ S\AE )

c. yA .
\ S N (detA =1)
O O 1

. (o
Ex G AR F(C°+C.x»« (4 X 24 r,;ﬂ): F(f(%l>)=
1

= QCD"’ 3@1+CL)X" C3 x'l_\ f?.x:p
L (g 2 O O N (o
= P 3wy} o p JO3 3 O <,
T~ - oo O =l _CL
s - o0 i 9] Cg
"r -
A
Q'\‘ /Q‘
AL R g) FOae 3xs LY
o |, \0/
Q G
) e 3rexts 2 3) FOO - %o 2|
4 -\
\ a




g

YT s plan ol e vekko

F\-: (1i-2ft‘t) @mnm ")FE.O,Q
L

Y n \
vl taﬁl *;-cr',{ -lrau« 2~ ‘g‘or‘v\'w{ ’2-1!' '\71[-,-\ .

(%, %y, %) (1 -
(Y\“Xa’xa)uﬁ = - (1' 2‘%) (".'2.‘1‘) =
l(’I;'LU\HL

K= Ry + M X
20

"

(_'\,UZ!H ]

-

F(TJ): V"Vu"h 5«

X," DK+ L‘EXy B
‘:(.x‘uk?,;xs): (K;,XZ'X‘S) s 2_. (11_2"‘«) -

- ‘ér((l\ X, Rk, 21%2) = (K2 Uk, - 2x ¢ X TRy, B Bre el x2)) =

= % (D_O?K\-k&?iz"‘lxs,ﬂ_x\*- VFrg + Bxg, ~HX * 37\:_*57(3)

20 K ANz Lxa

Ao 20 2 -4\ [%
VR xzy BX
= '2.‘ bt Q)(l +* 2 1 - g éq‘ D‘ Y} E XL
L—r - e
MokAs Bl F

Eﬁ‘ - (1-24) = (o, 0,0 &.Y,

‘?(&..l.o)z (2.0, ¢,
Fluo-) = (v, 0,-1) ok,



G(V): Vv

e v '

G\U\:,Xz, XJ \";

A_ (('l\\‘-\ l[x.‘_ 9—‘\‘5;) —'(&x\ YA 8?&1)“1’{’() +&X, s, TR ‘6*2*3'”‘3')}

A%+ %~ Txa

a4 -8

HX( *+ 18%g 41 %s S P
X

TER A lony = WXy - % e =

Fl1-2,40= (a1,2,w) o
r(znlfo\'—' (2.\,0) 6.\

F {4,010 (4,0,-1) 6. ¥



